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- ACROSS

1) Recipient of many a
televised "Hi"

4) Washington transit system
(with "the™)

9) Transfer plants

14) Old cager's org. with a
colorful ball

15) 10 on a scale of one to 10

16) Old Greek marketplace

17) 2,000 pounds

18) Fashion's Oscar de la

19) Handled clumsily

20) Like ball one

23) Psychiatrist's reply

24) Jim Davis pooch

25) Spectrum band

28) Wandered away

32) British dessert

34) Spray graffiti

37) "Void" companion

38) Like strike one

42) St. Petersburg river

43) Evening bash

44) Followed orders

47) Like a werewolf in a film
title

51) Title for Galahad

52) Two caplets, e.g.

55) Gift-horse location

56) Like ball two

61) Europe's "boot"

63) Block in the Southwest

64)"  vous plait"

65) Bolsheviks' founder

66) Mounds

67) Night before Christmas

68) Teased, in a way

69) Common mall anchor store

70) "The Confessions of
Turner"

- DOWN

MAKE YOUR PITCH
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1) Johnny of balladry

2) Orchestra member

3) Nativity setting

4) Sorvino of "Mighty Aphrodite"
5) Home and garden

6) Work the bar

7) It has a colon in the middle
8) Charlie Chan actor Warner
9) Slender sword

10) "My word!"

11) Mighty

12) Miner matter

13) Just a bit

21) Forward progress

22) Get benched

26) "Legally Blonde" heroine
27)  Monte (food giant)

29) Japanese currency

30) Small newt

31) Dits' counterparts, in Morse code
33) Starts a new paragraph

35) Top corporate exec.

36) Give off

38) Skating queen Thomas

39) How a stagecoach traveled
40) Outrage

41) Unenviable grade

42) Ballplayer IDs

45) Uncle Albert in "Mary Poppins"
46) 1950 noir starring Edmond O'Brien
48) No longer in bed

49) Naked horsewoman

50) Embroidered hole

53) Ginger cookies

54) Paul's "The Hustler" role
57) Eclectic assortment

58) "Return of the Jedi" dancer
59) Over, in Berlin

60) Tracy's Trueheart

61)"  be back!"

62) Summertime shirt
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